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ARDML No. E-HiEE 2 R E BGI#E iRiE
(deg) (keps) (kcps)
Heavy 1 15.562 21.206 8962 Rh-KBI
100 - 300 2 16.364 3.181 9.044  Rh-KB1-Compton
3 17.546 102.185 12.147  Rh-KA
4 18.233 7.096 14251  Rh-KA-Compton  Mo—KB1
5 20.314 15.044 5958  Mo-KA
6 35.478 0.546 0.875  Rh-KA-2nd
7 43.755 1.805 0.410  Ni-KB1
8 45,007 0.975 0.377 Cu-KA
9 48.653 8.130 0.279  Ni-KA
10 51.742 550.501 0912  Fe—-KBI
11 52.612 4.019 3370 Co-KA
12 56.805 4,017 4148  Mn-KBI1
13 57.506 2922.011 5658  Fe-KA
14 62.378 115.170 1.298  Cr-KBT
15 62.953 23.216 1.385  Mn-KA
16 69.341 593.086 1.703 Cr-KA
S -KA 1 107.755 0.257 0.118  Fe—-KB1-3rd
150 - 300 2 110.814 0.217 0.037 S -KA Co-KA1-3rd
3 111.871 0.701 0.039  Mo-LA
P -KA 1 141.193 1.108 0.103 P -KA
150 =300
Si-KA 1 108.232 0.561 0.045  Si-SKA3
100 -300 2 109.085 7.686 0.044  Si-KA
Al-KA 1 142.266 0.278 0.094  AI-SKA3
100 - 300 2 144.762 3.655 0.067  Al-KA




